DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 1)
DIVISION

Name:

Time: Score:

18)  —2368.2 + 0.6 =

182) 43.254 =6 =

183 —5.5111 = 0.7 =

189 —55.662 + 6 =

185 —H.082 =1 =

156 —5.3568 + 0.8 =

w81 2127 = 0.1 =

155 34.18 +0.01 =

159) 25.14 <+ 0.006 =

100) —1740.2 - 0.2 =

1) 1174.8 = 0.6 =

192) 15316 -4 =

193) —2996 + 1 =

194)  —324.42 = 0.06 =

195) —352.68 = 0.04 =

Mathematics: Division - Level 6 - Horizontal - Set 1
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200)
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49.746 + 0.6 =

5.3865 =+ 0.009 =

—0.24486 =+ 0.006 =

4.638 + 0.3 =

—0.2004 = 0.006 =

—0.079104 = 0.008 =

15560 =4 =

22.14 +0.009 =

4.0278 = 0.006 =

0.00246 =+ 0.002 =

—3020.5 =5 =

—51849 + 9 =

1825.6 -2 =

—0.00154 =+ 0.02 =

36.696 + 0.04 =
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